Tableaux des Puissances de Dix (])

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (J) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0003 0,3 0,003 0,03
14 0,0042 4,2 0,042 0,42
25 0,0075 7,5 0,075 0,75
26 0,0078 7,8 0,078 0,78
51 0,0153 15,3 0,153 1,53
32 0,0096 9,6 0,096 0,96
X 0,5 0,005 0,0005 0,05
49 24,5 0,245 0,0245 2,45
62 31 0,31 0,031 3,1

35 17,5 0,175 0,0175 1,75
47 23,5 0,235 0,0235 2,35
32 16 0,16 0,016 1,6

X 0,4 0,04 0,0004 0,004
2 0,8 0,08 0,0008 0,008
66 26,4 2,64 0,0264 0,264
46 18,4 1,84 0,0184 0,184
40 16 1,6 0,016 0,16
87 34,8 3,48 0,0348 0,348
X 0,0009 0,9 0,009 0,09
62 0,0558 55,8 0,558 5,58
9 0,0081 8,1 0,081 0,81
7 0,0063 6,3 0,063 0,63
36 0,0324 32,4 0,324 3,24
49 0,0441 44,1 0,441 4,41
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